

CITY OF LA VISTA
MAYOR AND CITY COUNCIL REPORT
FEBRUARY 2, 2010 AGENDA

Subject:	Type:	Submitted By:
SELECTION CONCURRENCE AND CONSTRUCTION CONTRACT AUTHORIZATION -108 TH & CHANDLER ROAD SIGNAL PROJECT MAPA-5011(13)	◆ RESOLUTION ORDINANCE RECEIVE/FILE	JOE SOUCIE PUBLIC WORKS DIRECTOR

SYNOPSIS

A resolution has been prepared accepting Commonwealth Electric Company of the Midwest, Lincoln, Nebraska, as the low compliant bidder for the project identified as MAPA-5011(13) and authorizing the Mayor and City Clerk to sign construction contracts on behalf of the City of La Vista.

FISCAL IMPACT

The FY 2009/10 Capital Improvement Program provides funding for the 108th and Chandler Road Signal Project. This project was selected for American Recovery & Reinvestment Act (ARRA) funding. The construction and construction engineering for the project are reimbursable.

RECOMMENDATION

Approval

BACKGROUND

The City of La Vista submitted the 108th & Chandler Signal Project for ARRA funding in March 2009 and was subsequently chosen. The project consists of installing warning lights on 108th Street in advance of the Chandler Road intersection to alert drivers that emergency vehicles are entering 108th Street from the District II Fire Station.

The State and City received bids for the said project on January 14, 2010, at which time four bids were received for the construction of proposed work; Commonwealth Electric Company of the Midwest, Lincoln, Nebraska was selected as the low bidder.

Commonwealth Electric Company of the Midwest	\$29,703.40
Sadler Electric, Inc.	\$38,094.30
O.K. Electric Co., Inc. and Subsidiary	\$43,473.00
Watts Electric Company	\$46,032.38

RESOLUTION NO. _____

A RESOLUTION OF THE MAYOR AND CITY COUNCIL OF THE CITY OF LA VISTA, NEBRASKA ACCEPTING COMMONWEALTH ELECTRIC COMPANY OF THE MIDWEST, LINCOLN NE AND AUTHORIZING THE MAYOR AND CITY CLERK TO EXECUTE CONSTRUCTION CONTRACTS ON BEHALF OF THE CITY OF LA VISTA FOR THE 108TH & CHANDLER ROAD SIGNAL PROJECT IDENTIFIED AS MAPA - 5011(13).

WHEREAS, the City Council of the City of La Vista has determined that said safety improvements at the intersection of 108th and Chandler Road are necessary; and

WHEREAS, the FY 2009/10 Capital Improvement Program includes funding for safety improvements at the intersection of 108th & Chandler Road; and

WHEREAS, the project has been designated as being eligible for American Recovery and Reinvestment Act (ARRA) Funds by the Department of Transportation, Federal Highway Administration; and

WHEREAS, the State and City received bids for the said project on January 14, 2010 and Commonwealth Electric Company of the Midwest, Lincoln NE was selected as the low bidder; and

NOW, THEREFORE BE IT RESOLVED, by the Mayor and City Council of La Vista, Nebraska, to accept Commonwealth Electric Company of the Midwest, Lincoln NE and authorize the Mayor and City Clerk to execute construction contracts on behalf of the City of La Vista for the 108th & Chandler Road Signal Project identified as MAPA – 5011(13).

PASSED AND APPROVED THIS 2ND DAY OF FEBRUARY 2010

CITY OF LA VISTA

Douglas Kindig, Mayor

ATTEST:

Pamela A. Buethe, CMC
City Clerk

R E S O L U T I O N

WHEREAS, there has been signed by the City of La Vista on the 22nd day of July, 2009, and the State on the 16th day of August, 2009, an agreement providing for the construction of a Federal Aid Project at the following location: At the intersection of 108th and Chandler Road.

, and

WHEREAS, in the above agreement, the City has pledged sufficient funds to finance its share of the cost of the construction of this project identified as MAPA-5011(13), and

WHEREAS, the above mentioned agreement provided that the City would pay costs as set forth in the agreement, and

WHEREAS, the State and the City received bids for the construction of this project on January 14, 2010, at which time four bids were received for the construction of the proposed work, and

WHEREAS, the following contractor(s) has been selected as the low bidder to whom the contract(s) should be awarded:

Commonwealth Electric Company of the Midwest, Lincoln, Nebraska;

Electrical: \$29,703.40

NOW THEREFORE, in consideration of the above facts, the City Council of the City of La Vista, by this resolution, takes the following official action:

1. The Council hereby concurs in the selection of the above mentioned contractor(s) to whom the contract(s) should be awarded.
2. The Council does not desire to perform any of the work with its own forces in lieu of performing the work by the contract method.
3. The Council hereby authorizes the Mayor and the City Clerk of La Vista to sign the construction contract on behalf of said City.

DATED THIS _____ DAY OF _____, A.D. _____

CITY OF LA VISTA

ATTEST:

Mayor

Council Member _____

City Clerk

Moved the adoption of said resolution.

Roll Call: _____ yea, _____ nay.

Resolution adopted, signed and filed as adopted.

ORIGINAL

CALL ORDER : 220
 LETTING DATE : 01/14/10 1:30 PM

CONTRACT ID : 2397
 DISTRICT : 2

TABULATION OF BIDS

COUNTIES : SARPY

ITEM DESCRIPTION	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	AMOUNT
LINE NO / ITEM CODE / ALT								
SECTION 0001 GROUP 8B ELECTRICAL								
0001 0001.08 BARRICADE, TYPE II	125.000 BDAY	0.50000	62.50	0.50000	62.50	0.50000	62.50	62.50
0002 0001.10 BARRICADE, TYPE III	104.000 BDAY	2.22000	230.88	3.50000	364.00	2.10000	218.40	218.40
0003 0001.75 TEMPORARY SIGN DAY	20.000 EACH	3.34000	66.80	7.00000	140.00	5.00000	100.00	100.00
0004 0001.90 SIGN DAY	234.000 EACH	0.83000	194.22	1.20000	280.80	1.45000	339.30	339.30
0005 0003.10 FLAGGING	10.000 DAY	3.65.00000	365.00	1.00000	10.00	296.00000	296.00	296.00
0006 0030.81 MOBILIZATION	LUMP	800.00000	800.00	1560.00000	1560.00	1275.80000	1275.80	1275.80
0007 7316.00 SIGN	2.000 EACH	149.00000	298.00	445.00000	890.00	340.00000	680.00	680.00
0008 7316.01 SIGN AND POST	2.000 EACH	375.00000	750.00	475.00000	950.00	470.00000	940.00	940.00
0009 A003.40 EMERGENCY VEHICLE CAUTION SYSTEM	LUMP	14005.00000	14005.00	22800.00000	22800.00	24670.00000	24670.00	24670.00
0010 A006.88 PEDESTAL POLE, TYPE PP-14	1.000 EACH	914.00000	914.00	1000.00000	1000.00	1397.00000	1397.00	1397.00
0011 A016.50 MAST ARM SIGNAL POLE, TYPE MP-30	1.000 EACH	4411.00000	4411.00	5735.00000	5735.00	6302.00000	6302.00	6302.00
0012 A070.14 2-INCH CONDUIT IN TRENCH	360.000 LF	5.80000	2088.00	5.35000	1926.00	4.25000	1530.00	1530.00
0013 A079.50 GROUNDING CONDUCTOR	400.000 LF	0.80000	320.00	0.75000	300.00	1.60000	640.00	640.00
0014 A079.55 SERVICE CABLE	420.000 LF	0.90000	378.00	1.25000	525.00	2.00000	840.00	840.00
0015 L001.02 SEEDING, TYPE B	0.500 ACRE	1334.00000	667.00	2020.00000	1010.00	1320.00000	660.00	660.00
0016 L022.90 TEMPORARY SILT FENCE	100.000 LF	3.34000	334.00	2.65000	265.00	3.30000	330.00	330.00
0017 L032.75 MULCH	1.200 TON	445.00000	534.00	230.00000	276.00	440.00000	528.00	528.00
SECTION TOTALS		\$ 29,703.40	\$ 29,703.40	\$ 38,094.30	\$ 38,094.30	\$ 43,473.00	\$ 43,473.00	\$ 43,473.00
CONTRACT TOTALS		\$ 29,703.40	\$ 29,703.40	\$ 38,094.30	\$ 38,094.30	\$ 43,473.00	\$ 43,473.00	\$ 43,473.00

ORIGINAL

CALL ORDER : 220
LETTING DATE : 01/14/10 1:30 pm
CONTRACT ID : 2397
DISTRICT : 2

TABULATION OF BIDS

COUNTIES : SARPY

1/14/10 1:30 pm
PAGE : 220 -4

SECTION	ITEM DESCRIPTION	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	AMOUNT
0001	0001.08 BARRICADE, TYPE II	125.000	BDAY	0.50000					
0002	0001.10 BARRICADE, TYPE III	104.000	BDAY	2.26000					
0003	0001.75 TEMPORARY SIGN DAY	20.000	EACH	9.76000					
0004	0001.90 SIGN DAY	234.000	EACH	3.66000					
0005	0003.10 FLAGGING	10.000	DAY	137.12000					
0006	0030.81 MOBILIZATION		LUMP	5310.00000					
0007	7316.00 SIGN	2.000	EACH	340.00000					
0008	7316.01 SIGN AND POST	2.000	EACH	390.00000					
0009	A003.40 EMERGENCY VEHICLE CAUTION SYSTEM		LUMP	22530.00000					
0010	A006.88 PEDESTAL POLE, TYPE PP-14	1.000	EACH	1020.00000					
0011	A016.50 MAST ARM SIGNAL POLE, TYPE MP-30	1.000	EACH	6690.00000					
0012	A070.14 2-INCH CONDUIT IN TRENCH	360.000	LF	4.85000					
0013	A079.50 GROUNDING CONDUCTOR	400.000	LF	1.80000					
0014	A079.55 SERVICE CABLE	420.000	LF	2.30000					
0015	L001.02 SEDDING, TYPE B	0.500	ACRE	3500.00000					
0016	L022.90 TEMPORARY SILT FENCE	100.000	LF	7.00000					
0017	L032.75 MULCH	1.200	TON	350.00000					
	SECTION TOTALS				\$ 46,032.38				
	CONTRACT TOTALS				\$ 46,032.38				

ORIGINAL

NEBRASKA DEPARTMENT OF ROADS

DATE : 01/14/10
PAGE : 2

CALL ORDER : 220
LETTING DATE : 01/14/10
CONTRACT DESCRIPTION :
108TH/CHANDLER RD, LAVISTA

VENDOR RANKING

COUNTIES : SARPY
PROJECT(S) : MAPA-5011 (13)

VENDOR NO. BID NOTES

RANK	VENDOR NO. /NAME	TOTAL BID	% OVER LOW BID
1	1863 COMMONWEALTH ELECTRIC COMPANY OF THE MIDWEST	\$ 29,703.40	100.0000%
2	2060 SADLER ELECTRIC, INC.	\$ 38,094.30	128.2490%
3	0812 O.K. ELECTRIC CO., INC. AND SUBSIDIARY	\$ 43,473.00	146.3570%
4	2122 WATTS ELECTRIC COMPANY	\$ 46,032.38	154.9734%